
ASSEMBLY 
INSTRUCTIONS
Otto 
Dining Tables & Benches 1 2 3 4 5 6

7 8 9 10 11 12Pack 1:
1x Top

1 2 3 4 5 6

7 8 9 10 11 12Pack 2:
1x Leg Pack & Fitting 
Kit

15-12-2021

Otto - Dining Tables & Benches
TAOT1200 - TAOT1800 - LB1050 - LB1650

1 2 3 4 5 6

7 8 9 10 11 12Pack 3:
1x Rail Pack



1,2,3...

**mmTO
O

LS
 R

EQ
U

IR
ED

FO
R 

A
SS

EM
BL

Y
D

O
N

T 
ST

RU
G

G
LE

2 
M

A
N

 L
IF

T
A

LW
AY

S 
H

A
N

D
LE

IT
EM

S 
W

IT
H

 C
A

RE
IF

 U
N

SU
RE

 C
A

LL
FO

R 
A

SS
IS

TA
N

CE
**mm

KE
EP

 F
IT

TI
N

G
S 

AW
AY

FR
O

M
 C

H
IL

D
RE

N

4



Please check that you have all the panels

1 2 3 4 5 6

7 8 9 10 11 12PACK 1:
1 x Top Panel

Connector Bolt - M6

Size	 PCS
50mm	 6

Connector Bolt - M6

Size	 PCS
20mm	 8

FITTINGS SUPPLIED

Please check that you have all the fittings

Screw-in Foot - M8

Size	 PCS
48 Dia. x 10mm	 4

1200 x 700mm = TAOT1200
1800 x 700mm = TAOT1200
1050 x 350mm = LB1050
1650 x 350mm = LB1650

1 2 3 4 5 6

7 8 9 10 11 12PACK 2:
1 x Leg Pack

350 x 415mm = OT-BLD
700 x 700mm = OT-ELD

PACK 3:
1 x Rail Pack

1200 x 50mm = OT-CR12
1800 x 50mm = OT-CR18
1050 x 50mm = OT-CR10
1650 x 50mm = OT-CR16

1 2 3 4 5 6

7 8 9 10 11 12



Screw in the M8 adjustable foot 
into the leg frames as shown and 
turn clockwise to tighten.

OTTO DINING TABLE & BENCH ASSEMBLY
1

Step 1

2

Step 2

Unpack your new Otto dining table 
/ bench seating unit and please 
recycle all packaging.

3

Step 3

Slide the cross rails into the spigots 
on the end leg and attach the M6 x 
20mm bolt as shown. 



4
Step 4

Repeat by attaching the remaining 
end leg to the cross rails and attach 
the M6 x 20mm bolt as shown. 

5

Step 5

Place the top panel face down 
and align the holes in the frame 
with the inserts in the top 
panel.

6
Step 6

Attach the M6 x 50mm bolts as 
shown to secure the frame to the 
top.


